INDEFINITE INTEGRATION- EXERCISE

x 2x\
+/
If J~ beX J then k =
(I)logb + logc—loga-2
(2) log (e? abc)
(3)loga—-logb-logc + 2
(4) 2loga+logb-logc

J' sec” x
——dx =
log(tanx)tanX

tanx

(1) log ‘log(tanx) ic

(2) log(tanx) + ¢

(3) loglog(tanx)| + ¢

(@) log| 08 10X
tan x
COSX sinx
J.cos(x—a) dX_Isin(x—a) dx=

(1) 2x cos a + ¢

(2) sin a log ‘tan(x—a)‘ +cC

(3) log ‘cot(x - a)‘c
(4) None of these

COSX + X Sin X
j R A dx =
x(x—cosx)
(1) log|x(x—cosx)|+c (2 log|1— =X
X
(3) log «—cosx|T € (4) None of these

J- sin'x —cos ' x

sin'x +cos ' x

(1) i(xsin1x+\/1—x2)—x+c

T

dx =

-1

2) log}sin X +cos ™' x‘+c

3) i(xsin1 X +vV1-x°
T

(4) None of these

+C

+C

10.

11.

J. (sin’x) dx = : (x # np, nel)

1
2
3
4

—COsX +C

COS X + C

= = —

— oS X sgn. (sin x) + ¢

—_ o~ o~ o~

None of these

=

J- cos’ x dx
cos’x +9sin” x

1
1) 5 [Btan (3 tan x) — x] + ¢

1
2) = [Btan' (3tanx) + x| + ¢

(3) 8{2—17tan1(3tanx)—x} = ¢

(4) None of these
If ¢'(x) means (log log log.......... log x);
the log being repeated r times, then

j{xﬁ(x)ﬁz(x)ﬁ(x)...ff(x)}*l dx is equal to
KHI(X)

r+1
(3) ('(x) + ¢ (4) None of these

(1) 1) + ¢ (2)

+ C

J.e“‘“?lx (1+x+xd(cot™x) =

(1) etan"x +c (2) _etan’]x +c

(3) _ Xetan"x +c

I 2x%+3 4 [x 2) [x+1jb
(-t —a) H=le 05 ) (KT e
then a, b are respectively

(1) 11/12, 5/6
3)-11/12, 5/6

(4) Xetan’]x + C

(2) 11/12,-5/6
(4) None of these

(X +x+]D)
J.e (1+X2)3/2 dx =

xe* x’e*
(1) (1+X2)3/2 +C (2) (1+X2)1/2 +C
xe*

3) (1+x2)" +C (4) None of these
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dx

12. I(1+\/§)\/§ =
2(&—1)

2(1+x)

1) —— +c¢ 2) ——" +c¢
(1) — (2) —
2(1++x) 2(Vx-1)
@B —— +c @4 —— +c¢
1-x 1-x
(ax” —b)
dx =
12, J.x\/czxz—(aszrb)z
b » b
ax +— axZEE
(1) sin”' X 1+K (2) sin™ X 1+K
c c
b » b
ax +— ax +—2
(3)cos X |+K (4)cos™ £+ K
c c
x*+1
14, f[———dx=AmIxl+—
X(x“+1) 1+x
C s integration constant, then :-
(1J)A=1,B=-1 20A=-1,B=1
BA=-1,B=-1 4A=1B=1
15 J- 5x% +4x° A
TV Hx+1)?
X __iC 2) X’ C
+
x*+x+1 x° +x
<3
3)————+C (4) None
X +x+1

16. J{sin(fn x)+cos(/n x)} dx =

sin(/nx) cos(/nx)

+C (2)

X X

(1)

(3)xsin(nx) + C (4) xcos(nx) + C

+ C, where

18.

19.

20.

21.

(3)[ Xnn}“+c
1+x

x* +¢0s” X 5
.[ ————5— cosec’x dx =
1+x

(2) —cot x + cot™'x+C

(4) None

(1) cotx —cot'x + C
(3)tan x + tan"' x + C

J.sinfmxcos*”2 xdx =

(1) tan'? x + tan*’2 x + C

(2) 2tan'’? x+%tan5’2 X+ C

(3) 2tan'”2 x+%tan5’2 x+C

(4) None

J‘ dx _
sin® x + cos® x

tan—1 _
I e x {(sec1 x/1+x2)2+cos1(1 x* H dx

1+x2
(x > 0) equals -
(1) e 'x tan-'x +C

X

-1
e™ * (tan' x)?
( ) N
2

3) e‘a‘rl".(sec’1 V1+x? )2 +C
(@) e‘“fl".(cos ec'V1+x’ )2 +C

2) @
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pgel . gl 27. 1Iff(0) = 1; {(2) = 3; {'(2) = 5 then the value of the
pX gx ; .
22. 5 dx is equals :
X7PT9 4 2xPe 4] L
definite integral Ixf "(2x)dx =
1 _XP C 2 Xq C 0
+ +
()xp+q+1 ()xp+q+1 3
. . ()3 2) 0
-X X
3 +C 4 +C
( ) x4 ( )Xp+q+1 (3) é (4)2
23. Primitive of (x? + 4)2 w.r.t. x2 + 2 is equal to :- 2
2 sin x
(1) =¥ +C (2) yx2 +4+ 2o +C | 28, IfFx) = ! (t>+3)dt , then the number of solution
(8) 2vx2 +4+C (4) None of equation F'(x) = 3cosx; x € [0, 2n] is
24. I(Vtanx ++/cotx)dx :- 1)3 2) 4 )5 @) 6
(1) sin! (sinx—cosx) + C ; ,
. . . X
2 \/5 sin-!(sinx — cos x) + C 29. Value of the definite integral _[ ( ; \/_6)
G {1+x7+H4/1+x
(3) /2 cos! (sin x — cosx) +C
(4) None (1)1 (2) —n2 (3) (n2 @0
25. Letf be a polynomial function such that vxeR e 4x
f(x2 + 1) = x* + 5x2 + 3 then the primitive of f(x) | 30- Im equals
W.rLt. X is .
0 X_% 3_x3 9 x_3 3_X2 (1)1 (2) —(n2 (3) n2 @0
3 T Xt 3 +X+cC
3 S Txtc 3 + +x+cC
26. Which of the following definite integrals have a non
zero value
/2 2n
(1) [ £n(cotx)dx 2) [ sin®xdx
0 0
[ dx
(3) I W (4) None of these
1/e
Que. 1 2 3 4 5 6 7 8 9 10
Ans. 3 4 2 1 3 1 1 3 1
Que. 11 12 15 14 15 16 17 18 19 20
Ans. 4 1 4 2 3 1 2 3 1
Que. 21 22 23 24 25 26 27 28 29 30
Ans. 3 3 3 2 1 4 4 3 1 3




